Relay-type Terminal Block

UL-C-UL BE &

A 15
E v F ./ Pitch 161
5 B iy - Y F/ Pitch 16mm
19 16 15 Type Number UF1005-60A-PGA
ey
. ; // ; ; E M8 AC600V  60A
h @ Rating
| fEfZIEI DC500V  100MQ LA E
vy f lusulation Resistance] DC500V  100MQ and over
1—-@[ AR E it ® E | AC3000V 153RILIE
E 4"\: NS - Withstands Voltage | AC3000V Iminute and over
RAN RCE
- li - /_‘_ - - . Screw Dia:r‘n:eter M5
____T/ ! - © [ w 5FH 4-10AWG (UL/C-UL)
__,L_- ] B B Compatible Wire 4-8AWG (Tuv)
e @ A ﬁﬁ%%ﬂfﬁ? R14—5
ecummended Crimp Termina
\ — @ - ULEZ#RA S | 775 bU—74%Y v 5/ FWi
\ — UL Wiring Method Factory Wiring
j j / j —H&/2# / General Tolerance +0.5
3, 13 6 | RE.“Scalel[ H{L  Unit mml
/1 ° =
e : —i— = @ﬁ/(_ﬁm(1/2)
: A=xis
|
glr==igi== I==I c
o | 2 /L
’ | S ANFI0 X i
() 60A @ o &
@ e iy !
z 8 ®
/ /A °
@ @ ® @ 7
—
o R £z — P.
« Ordering Form:Type No. No.of Poles(P)
CERRE R T B L2 2. AN,
+ Connection screw:Tightening torque is 2.4N-m.
< i R (REEM) BRE B R, BT — 2 R S L, —IREE . -4 \ ¢ lZ( '“/_\L‘
< Application:Commercial appliances, including business equipment, electronic data processing equipment, etc. N | 7 - \\ _
or general industrial. V/ /r‘ V/ /) /I?V /r" A
M {t#%.~Specifications. / ]/
#B%/Part No, EBE/Part No. . Material ##. Standard Ti&/Size ALER/Treatment %% /Remark @ @
1 RIS T Tnerediare bese | 7 =/ — LB Phonol o 0 & black Brm& E-E
2 W7 A End base A 7>/ MBS Phenoli o R & Black Mtk /Poles | 1P | 2P | 3P | 4P | 5P | 6P | 7P | 8P | 9P | 10P | 11P | 12P
3 i - B End base B| 7= /—/V#fl§  Phenolic UL B 4 Black
4 WESE  Terninal # 4 Brass C2680R BOE 3.0 | RAAUF  Tin-Plated A 44 60 76 92 108 | 124 | 140 | 156 | 172 | 188 | 204 | 220
5 R E R Screw ] Brass 2700 M5X0.8X120 | =yhAy%  Nickel-Plated WSz hAFR Type® B 34 50 66 82 98 114 130 146 162 178 194 210
6 FURAR Marking strip| 7 7 A 23— Fiber UL i )7 10.8 A& White C 32 48 64 80 96 112 128 144 160 176 192 208
7 H 78— Cover #YH—#%—b  Polycarbonate UL IR 1.0 % B Transparence
8 A= E A (over Retaing scren # 4 Brass C2700W M3X0.5X60 | =yhAy%  Nickel-Plated PIZAAFA Type® W4 /Poles | 13P 14P 15P 16P 17P 18P 19P 20P 21P 22P 23P 24P
9 SRV b Connecting bolt i‘;“ Steel SWCH M4X0.7 Zff7mA=b Triveot Chronte Trstment F A 236 252 268 284 300 316 332 348 364 380 396 412
10 S ko Comnecting nut # Steel SWCH M4X0. 7 Z/EA-b ot Chronde Tremen
1 T 7 o 0o | ELZ=h ol e - B 226 | 242 | 268 | 274 | 290 | 306 | 322 338 | 354 | 370 | 386 | 402
12 o=k Fu b Insert Nut 4l Brass 36048 M3X0. 5 A v %L Noplating C 224 | 240 | 256 | 272 | 288 | 304 | 320 | 336 | 352 | 368 | 384 | 400




